Horeal

Assembly Instructions

www.wohi.nl

1/5




1 Desktop board

<

2

Intermediate plate

—

3  Cabinet top plate

T

4 Cabinet bottom plate

1pc

1pc 1pc 1pc
5 Cabinetside plate |6 Cabinet back plate {7  Cabinet top plate | 8 Left foot frame
2pcs 1pc 1pc 1pc
9 Middle foot frame |10 Right foot frame |11 Long connecting rod| 12 Medium connecting rod
(o]
1pc 1pc 2pcs 1pc
13 Short connecting rod
R
. %
2pcs
A Twoinoneshank |B Two inonelock |C Cork |D 27*48mm Screw
e=T=mp o
g = (=>0 T (g)
4pcs 4pcs 8pcs 8pcs
E M6*12mm Screw |F M6*35mm Screw | G M6*40mm Screw |H  M6*40mm Screw
@(®) (@) (o)
2pcs 12pcs 9pcs 1pc
I Self tapping screw |J  M4*20mm Screw K Door shaft |L Magnet
@) @
?4.9*14mm
4pcs 1pc 2pcs 1pc
M Door handle [N Allen Key
©)
S .
1pc 1pc

2/5




Q\“\\\\\\m\\\\

10—

o

Concave hole

12

\&/‘%m@

D

@7*48mm Screw

E

M6*12mm Screw

G

M6*40mm Screw

H

M6*40mm Screw

R (B) 4apcs

2PCS

@(®)

(((((((((((((((((((((@ 9PCS

1PC

((((((((((((((((((((@

2

F

M6*35mm Screw

(((((((((((((((((@ 4PCS

3/5




<y

A Two in one shank | B Two in one lock C Cork Self tapping screw
=7 =—=D 4pcs 4PCS (=)  4pcs il o
.(- @3*12mm

J  M4*20mm Screw |L M Door handle

(((((((((((((((@ 1PC
C Cork |D @7*48mm Screw [ K Door shaft

(>=>() 4pcs I 2PCS

?4.9*14mm

4/5




F

M6*35mm Screw

(((((((((((((((((@

8PCS

5/5






